AC100Pro + ATR

Brandname of CHEMFIX CH+
+ ﬂw O
("2 pm) ATR |ID2

o'pI7a .
02X -
NIDX .

0n'1"IXN

7'731UnN T2 PaT .
compressive strength : 73 N/mm’
flexural strength : 25 N/mm’
flexural modulus : 3850
E-modulus : 8029.7

(pending) C2-1 C1 NDTX NT'Y1 121 YR

B56920 )
FOR USE WITH European Beilis}
POTABLE WATER Approval

'VOC CLASSIFICATION’

1PN . Fire Resistance
NN 2}?‘ ;{g f Classification
n2anon e B © nn R120

“7)IW 0AFNA (19D

.T272 pI70 1027 TYIM = I:l
(25-2 1p2) TTI2 JA1Y'7 DONIY N'72D

| M36 | M33 [ M30 | M27 | M24 | mM20 | M16 | M12 [ m10 [ M8 | bIn P |
3166 | 2624 | 236.6 | 187.8 | 153.7 | 111.9 | 70.6 | 583 | 43.1 36.1 Nrk,cone
246.1 | 205.3 | 182.1 | 154.7 | 133.0 | 104.7 | 67.9 | 46.9 | 33.9 | 25.7 Nrk,adh no7y w2 only
653.6 | 555.2 | 448.8 | 367.0 | 2825 | 196.1 | 1260 | 674 | 464 | 29.2 Nrk steel 1M9IX o
326.8 | 277.6 | 224.4 | 184.0 | 141.2 | 98.0 | 63.0 | 33.7 | 23.2 | 15.0 Vik mm J%
164.1 | 136.8 | 1214 | 103.1 | 88.7 | 69.8 | 452 | 312 | 226 | 17.2 kN Nrd no'7y ;
2614 | 2221 | 1795 | 1472 | 113.0 | 784 | 504 | 27.0 | 186 | 120 Vid nmm on ool = E
117.2 | 97.7 | 86.7 | 73.7 | 63.3 | 49.8 | 323 | 223 | 16.2 | 123 Nrec na'7y \7nIn only g
186.7 | 158.6 | 128.2 | 105.1 | 80.7 | 56.0 | 36.0 | 19.3 | 13.3 8.6 Vrec mm nnw only 5
798 | 503 [ 415 | 307 Nrk,cone E‘
39.8 | 272 | 206 | 156 Nrk,adh N9y ‘7wd only ’E
196.1 | 126.0 | 67.4 | 464 Nrk steel oI - @
980 | 63.0 | 33.7 | 232 Vik mm =
) ) ) ) " 265 | 181 | 138 04| T | ™M Ne noty 2
[an only =
784 | 504 | 27.0 | 186 Vrd mm
189 | 129 | 98 74 Nrec n9'7v X7nIn only
56.0 | 360 [ 193 | 133 Vrec mm nnw only
316.6 | 262.4 | 2366 | 187.8 | 153.7 | 111.9 | 706 | 583 | 43.1 36.1 Nrk,cone
246.1 | 205.3 | 182.1 | 154.7 | 133.0 | 104.7 | 679 | 469 | 339 | 257 Nrk adh na7vy 7wd only E
425.0 | 347.0 | 280.0 | 230.0 | 1836 | 126.7 | 81.6 | 43.8 | 30.2 19.0 Nrk steel N19IX a g
2125 | 173.5 | 1400 | 115.0 | 88.0 | 61.0 | 39.0 | 21.0 | 150 9.0 Vik mm = 5
164.1 | 136.8 | 1214 | 103.1 | 88.7 | 69.8 | 452 | 29.2 | 20.1 12.7 kN Nrd no'7y ; Ef
170.0 | 1388 | 112.0 | 920 | 704 | 488 | 312 | 168 | 120 7.2 Vid mm o oo = -'S
172 | 97.7 | 867 | 737 | 633 | 498 | 323 | 209 | 144 9.0 Nrec N9y X7nIn only §
1214 | 99.1 80.0 | 65.7 | 503 | 349 | 223 120 8.6 5.1 Vrec mm nnw only
40 38 35 32 28 24 18 14 12 10 do nITp IR
340 300 280 240 210 170 125 110 20 80 | mm hnom 7811 Mpnn poiy =
50 50 40 40 40 40 30 30 20 20 NITP PRIV 12Y0 78000 102 121y 2
360 330 300 270 200 150 80 40 20 10 Nm Tmax 7X1'0pN MpPNN DININ Eﬁ
1015 | 1046 | 893 | 69.5 | 429 | 294 83 5.6 39 2.8 ml N9 25% ‘7712 1IN7 10IN NINJ =
39 3.8 45 5.8 9.3 13.6 48 71 80 80 7'D 410 N719NX/0NIN NN

.Chemfix n1an ‘7w ¥ ima 7y mrooian ETA |pn 197 Drawinn,0pnan Niyawn 71,070 1572 NiN97 |1 71121y ,C20/25 |1022 TT1A |21y '9'7 0"0 DIIM)

: DOPra Al R :



N1 nlpna pnly 197 [IDAN AXPD D'PNAINDID'AIYA 12 02NN n'7ap

150 140 125 110 100 90 80 70 heff [y nipnn poiy
450 420 375 330 300 270 240 210 Scr 0221yN [2'Dp PNN
75 70 62.5 55 50 45 40 35 mm Smin D02IYN 2 '7X0''D PRI
225 210 187.5 165 150 135 120 105 Cer 102N N¥PR 'DIP PN
75 70 62.5 55 50 45 40 35 Cmin [ID2N ¥R 7XNID PN
400 340 300 280 240 210 200 170 heff [y mpnin pniy
1200 1020 900 840 720 630 600 510 Scr DY 2 'DMP PN
200 170 150 140 120 105 100 85 mm Smin DY |2 7R PNIN
600 510 450 420 360 315 300 255 Cer |IDAN NXPR 'BNIP PNIN
200 170 150 140 120 105 100 85 Cmin [ID2N N¥PN *7XNIN PN
.N9'7W2 P71 O'DUIT7T DI DU7XNDIDOIND D'PNINA .D'ONIY NNNSNA 0211 D'7XN'DA D'PRINA
a1y '72 mIwn 197 2WN7 W Y7XDD9IX PN 'X,N71'T2 N'71I200 AvWn'7
DIy 197 |y aIvn
("ETAG Bonded Anchor" |pn '97 nbwsin aiwn nix)
nnyn
NN'Y/0I7nIin/nYin'y 0roniy '97 X71 design [2N '0NIY '9'7 021IYN NX 0'AvNnD ETAG-N 197 -
0'aVNn |20 INX7,|21IVN I0IN NYp 1020 011y ,"Pull-out" N9*7w21 7w 110 3 '97 |2Iyn NIX D'AVWND -
71WNN 7U2N NX 0TI 91021 pry-out-1 [AIYN ININ MY ,[ID2N NP 11122 7WD 1210 3
n9'7wa'7wI - 1
Nrd,p = Nord,p . fT . fB-cp . fAN-cp . fRN-(p "COMBINED PULL'OUT" '5'7 '7WJ 1.1
' o
& Pull-out na'7wa piyn 7w 'namin pnpun | Nowdp
.| Mpna poly nyawn oTpn fr
3 . Combined Pull-out 7w 97 ipan a0 nyswnoTpn | fe-p
Combined Pull-out 7w2 97 oy 2 fapnn nyswnotim | fan-p
Combined Pull-out 7w3 197 jnan n¥pn pnn nyswn 0Tpn | fRN-p
M36 | M33 | M30 | M27 | M24 | M20 | Mi16 | M12 | M10 M8 [y a0 N’rdp
340 300 280 240 210 170 125 110 920 80 mm hnom MIDI9ND | (12210
164.1 | 1369 | 1214 | 1032 | 887 69.8 45.2 31.2 226 17.2 DWW -PrioNT v | 24°/40° ‘é_'
kN =
o
1313 | 1108 | 995 | 856 | 760 | 605 | 396 | 260 | 190 | 154 WA -prio N7 a | 50°/80° =
- - - - - 265 | 181 | 138 | 104 - apNwa-priowa | 24°40° al
kN §
= = = = = 26.5 18.1 134 14.1 = 2D WA - PITO 1D 50°/ 80° ~
20d > heff > 4d DY (mm) "72m11 NIpNA PRIy | hnom | heff
- hnom
fB,cp
C50/60 | C45/55 | C40/50 | C35/45 | C30/37 | C25/30 | C20/25 [ID2N 210
13 1.27 1.23 1.18 1.12 1.06 1.00 ITO X7 102
1.1 1.09 1.08 1.06 1.04 1.02 1.00 170 102




combined pull-out 7w '97 01y 2 12 pnn Nyswn 070 fan-cp
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [y 210
7yn 7yn 7yn* 7yn 7yn 7yn 7yn 7yn 7yn 7vn heff
*M'N220 | *N'D210 | N'D190 | *P'D180 | *NM170 | *M'M 150 | *P'D130 | *N'M100 | *N'n8s *n'n 70 s
0.53 0.53 0.53 0.54 0.54 0.54 0.55 0.57 0.58 0.60 40
0.54 0.54 0.54 0.55 0.55 0.55 0.57 0.58 0.60 0.62 50
é 0.55 0.55 0.55 0.56 0.56 0.57 0.58 0.60 0.62 0.64 60
= 0.55 0.56 0.56 0.56 0.57 0.58 0.59 0.62 0.64 0.67 70
E 0.56 0.56 0.57 0.57 0.58 0.59 0.60 0.64 0.66 0.69 80
E_ 0.57 0.57 0.58 0.58 0.59 0.60 0.62 0.65 0.68 0.72 90
g 0.58 0.58 0.59 0.59 0.60 0.61 0.63 0.67 0.70 0.74 100
E 0.59 0.60 0.61 0.61 0.62 0.64 0.66 0.71 0.75 0.80 125
5 0.61 0.62 0.63 0.64 0.65 0.66 0.70 0.75 0.80 0.86 150
2 0.65 0.66 0.67 0.68 0.70 0.72 0.76 0.84 0.90 0.98 200
E 0.69 0.70 0.72 0.73 0.75 0.77 0.83 0.92 0.99 1.00 250
2 0.73 0.74 0.76 0.78 0.80 0.83 0.89 1.00 1.00 300
i 0.76 0.78 0.80 0.82 0.84 0.88 0.96 350
E 0.80 0.82 0.85 0.87 0.89 0.94 1.00 400
2 0.84 0.86 0.89 091 0.94 0.99 450
E— 0.88 0.90 0.93 0.96 0.99 1.00 500
E 0.95 0.98 1.00 1.00 1.00 600
= 1.00 1.00 660
fan-p = 0.5 + 0.5 X p— 12 pmn nyaw.‘;l;;rlzg fan TIN7 D'TPNN DX 7'9207 ¥ *
APOININ DIN |11 197 TN IX @ @
X1 |y 12 pnan
Xo $1-2 fan=fans1-2 . faNs1-3
S13
Scr-np = 20 X [Nrk adh,prioxs X d/(7.5 x T x hnom)]o'5 <3 X heff I@ @
combined pull-out 72 197 1020 N¥PR PNN NY9wWn DTN fry-cp
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [ayn 210
o 7yn 7yn 7yn* 7yn 7yn 7yn 7yn 7yn 7yn vn heff
E *M'N220 | *N'D210 | N'D190 | *P'D180 | *NM170 | *M'M150 | *P'D130 | *M'M100 | *N'n8s *n'n 70 c
E 0.56 0.56 0.57 0.57 0.58 0.59 0.60 0.64 0.66 0.69 40
E_ 0.58 0.58 0.59 0.59 0.60 0.61 0.63 0.67 0.70 0.74 50
'_E 0.59 0.60 0.60 0.61 0.62 0.63 0.66 0.70 0.74 0.79 60
12 0.61 0.61 0.62 0.63 0.64 0.65 0.68 0.74 0.78 0.83 70
E 0.62 0.63 0.64 0.65 0.66 0.67 0.71 0.77 0.82 0.88 80
2 0.64 0.65 0.66 0.67 0.68 0.70 0.73 0.81 0.86 0.93 90
E 0.65 0.66 0.67 0.68 0.70 0.72 0.76 0.84 0.90 0.98 100
JS: 0.69 0.70 0.72 0.73 0.75 0.77 0.83 0.92 0.99 1.00 125
E 0.73 0.74 0.76 0.78 0.80 0.83 0.89 1.00 1.00 150
o 0.76 0.78 0.80 0.82 0.84 0.88 0.96 175
§ 0.80 0.82 0.85 0.87 0.89 0.94 1.00 200
ﬁ— 0.88 0.90 0.93 0.96 0.99 1.00 250
E 0.95 0.98 1.00 1.00 1.00 300
S| 100 1.00 330
fovep = 05+ < (mm) jI020 N¥p TV PN | c D'DTPRN DX 719907 Wt g
P .0'211'20 727 TN IX TINY 3

102N N9 Iy XDAITY
fan =frny - fRNz

cy$
Jiban nvp i

®$p




(]
Nrdc=Nrdc.fs.fan.frn

[Ib2n onip 97 '7wd 1.2

[ID2N N¥PR PN NYWN DTN faN 1020 onip 97 nef7wa piva fxamn pnptin | N
(mm) piyn npnn poiy heff [ID2N 210 NY9WN DTPR fB
= 0myn |2 pnan nyswn oTpm fAN
Na,c=7,2.25% . (hef)”/ 1500 PITO (1027 N, =10,1.25% . (he) " / 1500 PITO X7 |ID27
Nord,c
150 140 125 110 100 90 80 70 mm heff
61.8 55.8 47.1 388 337 287 24.1 19.7 " PITO X7 102
44.1 39.8 335 27.7 240 205 17.2 14.1 N P70 102
400 340 300 280 240 210 200 170 mm heff
2603 | 2111 | 1749 | 1577 | 1252 | 1025 95.2 746 ITO X7 [ID2
1920 | 1505 | 1247 | 1124 | 892 73.0 67.9 53.2 KN 2170 102
oo (fek 08 C50/60 | C45/55 | C40/50 | C35/45 | C30/37 | C25/30 | C20/25 | C15/20 | yoanaio
25 1.55 141 134 126 1.18 1.10 1.00 0.77 fg
0miy 2 22 pnan Nyswn oTpm fan
400 340 300 280 210 170 150 125 110 100 90 80  |het —"
0.53 053 0.53 0.54 0.55 0.56 0.57 0.58 0.59 0.60 0.61 063 60
0.53 053 0.54 0.54 0.56 0.57 0.58 0.59 061 062 0.63 0.65 70
053 0.54 0.54 055 0.56 0.58 0.59 0.61 062 0.63 0.65 0.67 80
0.54 0.54 0.55 0.55 0.57 0.59 0.60 0.62 0.64 0.65 0.67 0.69 90
0.54 0.55 0.56 0.56 0.58 0.60 061 0.63 0.65 0.67 0.69 0.71 100
055 0.56 0.57 0.57 0.60 0.62 0.63 0.66 0.68 0.70 0.72 0.75 120
0.56 0.57 0.58 0.58 0.61 0.64 0.66 0.69 0.71 073 0.76 0.79 140
0.58 0.59 0.60 061 0.64 0.68 0.70 0.74 0.77 0.80 0.83 0.88 180
0.58 0.60 061 062 0.66 0.70 0.72 0.77 0.80 0.83 0.87 0.92 200
0.60 0.62 0.64 0.65 0.70 0.75 0.78 0.83 0.88 0.92 0.96 1.00 250
063 0.65 067 0.68 0.74 0.79 0.83 0.90 095 1.00 1.00 300
0.67 0.70 0.72 0.74 0.82 0.89 0.94 1.00 1.00 400
0.71 0.75 0.78 0.80 0.90 0.99 1.00 500
0.75 0.79 0.83 0.86 0.98 1.00 600
0.79 0.84 0.89 092 1.00 700
0.83 0.89 0.94 1.00 800
0.90 097 1.00 960
0.96 1.00 1100
1.00 1200
fan=0.5 + 6 het
.
: i NOP ATO




fRn=0.5 + ﬁ
ID2N N¥PR PN NYsWN DTN frn
400 340 300 280 210 170 150 125 110 100 20 80 heft C
0.54 0.55 0.56 0.56 0.58 0.60 0.61 0.63 0.65 0.67 0.69 0.71 50
0.56 0.57 0.58 0.58 0.61 0.64 0.66 0.69 0.71 0.73 0.76 0.79 70
0.57 0.58 0.59 0.60 0.63 0.66 0.68 0.71 0.74 0.77 0.80 0.83 80
0.58 0.59 0.60 0.61 0.64 0.68 0.70 0.74 0.77 0.80 0.83 0.88 90
0.58 0.60 0.61 0.62 0.66 0.70 0.72 0.77 0.80 0.83 0.87 0.92 100
0.60 0.62 0.64 0.65 0.70 0.75 0.78 0.83 0.88 0.92 0.96 1.00 125
0.63 0.65 0.67 0.68 0.74 0.79 0.83 0.90 0.95 1.00 1.00 150
0.65 0.67 0.69 0.71 0.78 0.84 0.89 0.97 1.00 175
0.67 0.70 0.72 0.74 0.82 0.89 0.94 1.00 200
0.71 0.75 0.78 0.80 0.90 0.99 1.00 250
0.75 0.79 0.83 0.86 0.98 1.00 300
0.83 0.89 0.94 0.98 1.00 400
0.92 0.99 1.00 1.00 500
1.00 1.00 600
Nrd,s = Nek,s/ Ysn jiynmina'7wd 1.3
— M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 As
P o 8496 | 7218 | 5835 | 4773 | 3672 | 2547 | 1632 | 876 | 603 | 381 | mm’
kN Nrd,s
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [ayn 210
209.6 178.0 149.3 122.7 94.0 65.3 42.0 22.7 15.3 10.0 4807179
283.2 240.6 186.7 153.3 117.3 81.3 52.7 28.0 19.3 12.0 580N7179
435.7 370.1 299.2 244.7 188.3 130.7 83.7 449 30.9 19.5 881779
606.9 515.5 416.4 340.7 262.1 182.1 116.4 62.1 429 27.1 109N7179
- - - - 132.1 91.7 58.8 316 21.7 13.9 |(A4-70) SS316 npboiNa
- - - - 176.3 122.5 78.8 419 28.8 18.1 | (A4-80) SS316 o3

ST37 NT79 11'0 NIDIN 7V DITIDON ;XX .N91'X2 N'DATIDO N1'N 5.8 nT79 *

Nra =min {Nrd,c, Nra,p s Nra,s} :n9'7wa'7wo Do
Nrd > NIN7 11X 97w 1IVn 7Y 7y9I00 |20 ORIyn




mma'7ed -2
. o Vrd,s =Vrk,s/ Vsv iynmina ‘7w 2.1
\ i - i kN Vid,s
M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 [ayn 210
125.8 102.7 108.0 88.0 68.0 47.2 304 16.0 1.2 7.2 480779
170.0 138.8 112.0 92.0 70.4 48.8 31.2 16.8 12.0 7.2 581779
2614 222.1 179.5 147.2 113.0 784 504 27.2 18.6 12.0 881779
283.2 249.6 2159 191.0 146.8 101.9 65.3 35.1 24.1 15.2 1091779
- - - - 79.5 55.1 353 19.2 12.8 8.3 (A4-70) SS316 npoN1
- - - - 1128 784 50.4 27.2 18.4 12.0 (A4-80) SS316 NnboNn

ST37 0779 10 NIDIN 7¥ DITIVON XX .NDI'XA N'DITIDO NI 5.8 NT79 *

Vrde=Vrdc.fa. fyv.fary JID20 N¥p 197 '7wI 2.2

ADIToTinn oy Wwp N7 ‘('7DID AXPOND DXP TIXD O'PNAD ANIX 2 W' NT'Da

T2 IYN 7w 7000 2N PTIN Vordc

[ID2N 210 NYDWN DTPD fs

102N ¥ (11917900 NN I A T nyswn oTpn | fyy

DIV 2 PNA0IID2N DY PR nyswn oTpn | fary

(mm) v oip d

(mm) pynnmpnapoiy | heff

(mm) 12N NP TY PRID C
a=0,1. (heft/)™® Voige=124.d° heit .25%.c"*1/ 1500 PO X7 1027
_ 0,2
B=0,1.(d/c) KN | Ve

M30 M27 M24 | M20 | M16 M12 M10 M8 | piynaio
280 240 210 170 125 110 90 8o [hest
8.5 7.5 6.8 59 49 44 4.0 3.7 40

10.5 9.5 8.6 75 6.4 5.8 53 5.0 50
127 115 10.5 9.3 8.0 73 6.8 6.3 60
14.9 13.6 12.5 1.1 9.7 8.9 83 7.8 70
17.2 157 14.6 13.1 1.5 10.6 9.8 93 80

19.6 18.0 16.7 15.1 133 12.3 1.5 10.9 90

22.0 20.3 19.0 17.2 15.2 14.1 13.2 12.6 100
27.1 25.2 236 215 19.3 17.9 16.9 16.1 120
324 303 28.5 26.1 235 22.0 20.8 199 140
380 356 336 309 28.1 26.3 24.9 239 160
43.8 411 389 36.0 328 30.8 293 28.1 180
49.8 46.9 445 41.2 37.7 35.6 338 325 200
575 543 51.7 48.1 441 4.7 39.8 383 225
65.5 62.1 59.1 55.2 50.8 48.2 46.0 443 250
738 70.1 66.9 62.6 57.8 549 525 50.7 275
824 78.3 74.9 70.2 65.0 61.9 59.2 57.2 300
100.2 | 95.6 91.6 86.2 80.2 76.5 734 71.1 350
119.0 | 113.7 | 1093 | 103.2 | 963 92.0 88.5 85.8 400
138.6 | 1328 | 1278 | 1209 | 1132 | 1084 | 1044 | 1014 450
159.0 | 1526 | 147.1 | 1395 | 1309 | 1256 | 121.2 | 1177 500

PITO X7 |12




Voide=[17.d% heit. 25" .c"* 1/ 1500 7170 1027

kN Vord,c
M30 | M27 | M24 | M20 | M16 | M12 | M10 | M8 | pwnaio
280 | 240 | 210 | 170 | 125 | 110 o) R
6.0 53 48 42 35 3.1 2.8 26 40

7.5 6.7 6.1 53 4.6 4.1 38 35 50
9.0 8.1 74 6.6 5.7 5.2 4.8 4.5 60
10.5 9.6 8.9 79 6.9 6.3 5.8 5.5 70

12.2 11.2 10.3 9.3 8.1 7.5 7.0 6.6 80
139 12.8 1.9 10.7 94 8.7 8.1 7.7 90
15.6 14.4 134 12.2 10.8 10.0 94 8.9 100

192 | 178 | 167 | 152 | 137 | 127 | 120 | 114 120 | g
230 | 214 | 202 | 185 | 167 | 156 | 147 | 141 140 | o
269 | 252 | 238 | 219 | 199 | 186 | 177 | 169 160 | =
310 | 291 | 276 | 255 | 232 | 218 | 207 | 199 180
352 | 332 | 315 | 292 | 267 | 252 | 239 | 230 200
407 | 385 | 366 | 341 | 313 | 296 | 282 | 27.1 225
464 | 440 | 419 | 391 | 360 | 341 | 326 | 314 | 250
523 | 496 | 474 | 443 | 409 | 389 | 372 | 359 275
584 | 555 | 530 | 49.7 | 461 | 438 | 420 | 405 300
710 | 677 | 649 | 61.1 | 568 | 542 | 520 | 503 350
843 | 806 | 774 | 731 | 682 | 652 | 627 | 608 400
982 | 940 | 905 | 857 | 802 | 768 | 740 | 718 450
1126 | 108.1 | 1042 | 988 | 928 | 890 | 858 | 834 500
f s €50/60 C45/55 C40/50 €35/45 €30/37 €25/30 €20/25 (102N 210
fg=(55)" 155 148 141 134 122 110 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° v
25 232 197 1.64 1.40 1.24 1.13 1.05 1 fv
----------------------- [[bah] nxp'7 n'on' N1'12a oniyn Nt | Y |
o 0

Ib2n NXp

1
fyv = / 2 o Urspia
(cosy)” +(0,25.siny)

102N N¥PYT 72PN NI2N 270 DX PN AWNY7 W' ,90°-D N'7ITa NNTENT'NA

JJiban ﬂ¥|7'7 q190 |12 1'AaY NIdin 122701 awnnn7 T |'X



fary = 1

(mm) NPTIN (11 197 101N NP TY PNIN C
(mm) 12N NXP DY 72PN R '97 DY 12 PN Sx
102N NXP7 12N 2N MIYAD 0921y 190D n

i i

3¢+S51+52+53+ ...+ 5n-1

faRv =
3nc

mm | ETAX9N'X [N 7v NIYNT

TTA 0Y'T *

D21y N¥Ip'7 *

16 | 14 | 12 | 10 8 6 [ynoip
18 | 16 | 14 | 12 9 7 NTNXINNT7927IN

mm ETA™on'X |pn 7v niwnT
30 | 27 | 24 | 22 | 20 | 18 [iyn oI
33 | 30 | 26 | 24 | 22 | 20 NTNNINAT792 71N

GG@@

|ID2N n¥p

N77927IN7 IV 2 NRXNN NN X710TP2 (1720 NXY) 21N 1017 DY NTRXIDN 17791 1IN0 DX O'XNN7 W' ,ETA 2001 'X9IT'X [N 197
JID2N NYP'7 AN N2NPN D221V NNIYA P 07'T2 2WNNNY7 72131 0221YN NNIY 22 17722 NN 12y0D N102N7 NNYOX 'Y 1IN0 17'0 IX

Vrd,cp =2. Nrd,c

Pryout 97 '7w3 2.3

(1.2 n9'7wa 7wd 2w X)) | Nrd,c |

Via= min {Vrd,p [ Vrd,c [ Vrd,s}
Vid > NIN7 11X 197w 21YN 7Y 7¥9100 DN 0NIVN

T2 7W0 Do

1, 1,
Nsd > Vsd >
<1

NRd,concrete VRd,concrete

2 2

Nsd Vsd
) ) <1
NRd,steel VRd steel

A7ivnnoniynwY77v) -3

[ayn 7y 7y9imn n97w2a on oniy

Nsd

[y 7y 7y9Imn N2 2N only

Vsd

(Nrd,c, Nrdp) DD =

N Rd,concrete

(Vrd,c: Vrd,cp) DIDIM = VRd,concrete
Nrds = NRdsteel
Vids = VRdsteel




11pna 1T

(n”P 20 Ty 12) '3 NWA7 OXNIND BIPA N NP7 (1

(2 n'nys 197 3 N71y9) PI727 IN013N 1197 NWI2 IDINN DX PTN7 N7P ,D0D10N DNpRA* 21721 NWAN DX §INT7 (2

(

(
JD'2ANINA YN NX X707 (3
.112'01 DINA NX 012n7 (4
(

910N w127 TY D" NYY-NyV |'Mnn7 (5

D19 NN
AC100Pro 410ml
08461 CG410 1T ApT NTPX
01461 EG410 '70WN npTn NTPX
02461 PG410 'bXxn19 NPT NTPX
23205 M12x1000mm 12 nvN
23210 M16x1000mm 13 NYN
S 23220 M22x1000mm 1 nwn
— 1E™ 51250 M12x50 1137 |i7m
(Y ——— 51685 M16x85 M7 |I7™m
[— — = ”_'__ 51613 M16x130 1127 |i7m
' 52085 M20x85 a7 |17

n'0"pnIi NITN

I, - " ATR

ield strength elalte 0 DIPNIX DINN DI
y 9 strength nion n C
779210 n'pn D9 1IN
fyk , fuk , Sw L d
(N/mm°) (N/mm°) (mm) (mm) (mm)

10 70 6 05080670 ATR 5.8 M6x70
13 110 8 05080811 ATR 5.8 M8x110
17 140 10 05081014 ATR 5.8 M10x140
17 190 10 05081019 ATR 5.8 M10x190
19 165 12 05081216 ATR 5.8 M12x165
19 220 12 05081222 ATR 5.8 M12x220

400 500 5.8
24 160 16 05081616 ATR 5.8 M16x160
24 190 16 05081619 ATR 5.8 M16x190
24 230 16 05081623 ATR 5.8 M16x230
30 260 20 05082026 ATR 5.8 M20x260
30 290 20 05082029 ATR 5.8 M20x290
36 300 24 05082430 ATR 5.8 M24x300
13 110 8 03160811 ATR SS316 M8x110
17 130 10 03161013 ATR S5316 M10x130
19 160 12 03161216 ATR SS316 M12x160

450 700 SS316 (A4)
24 190 16 03161619 ATR SS316 M16x190
30 260 20 03162026 ATR SS316 M20x260
36 300 20 03162430 ATR 55316 M24x300

.(ATR 5.8 M16x230 GG XM2IT7) ININN DY INXT GG |"Y7 X1 .WXIN NINTNA [NP'D 30 2ITI9PTINDAD 1722 NIDIDA NX 727 N1

AC100Pro + ATR 84



ATR

yield strength s't?::;fh nll;llgn TIX 01
fyk ka sw 779210 L d D"|7D DD XN
(N/mm’) (N/mm’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000

0 500 24 o137 16 03716100 ATR 37 M16x1000
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
4 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
2 14 08814100 ATR 8.8 M14x1000
24 16 08816100 ATR 8.8 M16x1000

640 800 8.8 1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 2 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
41 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR $5316 M6x1000
13 8 31681000 ATR 55316 M8x1000
17 10 31610100 | ATRSS316 M10x1000
19 12 31612100 | ATRSS316 M12x1000
19 14 31614100 | ATRSS316 M14x1000
24 16 31616100 | ATRSS316 M16x1000

450 700 55316 (A4)
19 18 31618100 | ATRSS316 M18x1000
30 20 31620100 | ATRSS316 M20x1000
19 22 31622100 | ATRSS316 M22x1000
36 24 31624100 | ATRSS316 M24x1000
41 27 31627100 | ATRSS316 M27x1000
46 30 31630100 | ATRSS316 M30x1000

.(ATR 5.8 M16x230 GG XN2IT7) I¥INN DY INX7 GG |"¥7 X1 .WNXIN NINTNA NP 30 "TI9TINAY [117'3] NIDINN NX 727 [N

ITS

—_—
yield strength tensile strength q01p
pInn DINN IR DIDN VI
fyk fuk 779210 n’pn D9 IXN
2 2 m19n
(N/mm?) (N/mm°)
(mm) (mm) (mm)
8 80 12 08520 ITS M8x80
400 500 10 5.8 90 16 08522 ITS M10x90
12 110 20 08524 ITSM12x110

.(ATR 5.8 M16x230 GG X12IT7) ININN DY INX7 GG |"Y7 X1 .WXIN NINTNA |NP'D 30 2ITI9PTINAD 11722 NIDIDA NX 727 N1

: UDOF




AC100Pro + rebar

Brandname of Chemfix CH+

NIV NIYYpr79X
(D2

o'pI7a .

00X .

NILX .

77702/ XIp

n""OXN

772UD TN PAT o

compressive strength : 73 N/mm”
flexural strength : 25 N/mm~
flexural modulus : 3850 ¢
E-modulus:8029.7 «

BS6920
FOR USE WITH
POTABLE WATER

VOC CLASSIFICATION® Fire Resistance

1PN nprT2
NN A'l' :IFIND. f Classification
n2non it BRI © nn R120

‘730 DN o0

1272 pIT0 [1Ib27 TVIM = D

(25-2 [ID2) TTI2 J21Y'7 D'ONIY N'72D

| @40 | @36 | 32 | @28 | @25 | 022 | @20 | @18 | @16 | @14 | @12 | @10 | @8 | Y1201
564.6|404.01289.1(236.6153.7(132.3|111.9] 928 | 70.6 | 62.3 | 58.3 | 43.1 | 36.1 Nrk,cone
373.3|1268.7{193.0|152.7|107.2| 85.4 | 69.4 | 70.4 | 54.3 | 45.5 | 38.8 | 28.0 | 20.9 Nrk,adh no'7y w2 only
693.8|563.2(442.01338.7(270.0/208.3(173.0{139.5(111.0| 84.4 | 62.0 | 43.0 | 28.0 Nrk steel 1"9IX -
346.9(281.6/221.0{168.8|135.0{104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 | 21.5 | 14.0 KN Vik mm 3
207.4(149.31107.2| 84.8 | 59.6 | 47.4 | 386 | 39.1 | 30.2 | 253 | 216 | 156 | 116 Nrd no'7y =
231.3|187.7|147.3|1125| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 | 143 | 9.3 Vid nmm ony =
148.1|106.6| 76.6 | 60.6 | 42.5 | 33.9 | 27.6 | 279 | 21.5 | 18.1 | 154 | 11.1| 8.3 Nrec no'7y 70 only
165.2|134.1|105.2| 80.4 | 64.3 | 49.8 | 41.2 | 33.4 | 26.4 | 20.2 | 14.8 | 10.2 | 6.7 Vrec nmm nn'v only
109.6]| 943 | 79.8 | 66.1 | 50.3 | 444 | 415 Nrk,cone
57.7 | 46.0 | 37.4 | 31.0 | 239 | 19.7 | 16.6 Nrk,adh no'7y 7vd only
270.0(208.3(173.0|1139.5(111.0| 844 | 62.0 Nrk steel N9
i i i ) 135.01104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 i i KN Vik mm %_'
3211 255(208 172133 | 11.0| 9.2 Nrd no7y r';_
90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 Vrd nmm nony
229 (182|148 (123 95 | 78 | 66 Nrec n9'7W | y7oim ooy
643 | 498 | 412 | 334 | 264 | 20.2 | 1438 Vrec mm nn'w oniy
500 | 400 | 320 | 280 | 210 | 190 | 170 | 150 | 125 [ 115 | 110 | 90 | 80 hnom 17211 NIpNN PRIy
50 44 40 35 30 27 25 22 20 18 [(14)16] 12 10 | mm do nITp 0IP E
80 80 80 80 60 60 50 50 40 40 30 30 30 NIT'P PRIY7 12YN ‘780D 101 1Y E
442 [ 251 [ 181 [ 121 | 57 | 46 | 38 | 24 | 18 | 14 9 39 | 28 | ml (25% 7w N9 '7'712) AN / 0IN NiNJ E
09 | 16 | 22 | 33 | 71 | 88 | 11 17 | 23 | 28 46 80 | 80 7D 410 N719DX7 ONIN NINJ

ETA |pn '97 Dawinn,,0pnIn NIyawn 171,070 15 73 NIN9Y7 | 7112 0y,C20/25 (1022 TTIA Y '97 0*100 0DIM
JXDIXAN [PN2 07172 DIX 17O (1022 07D 10-10D 8 0WBPN .Chemfix Nan 7w Iy aina 7y orooani

: DOPrao Jok: 86



N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 20PN n'7ap

190 170 150 125 115 110 90 80 heff [y Nipnn pRiy
380 340 300 250 230 220 180 240 Ser 0'221yn 2'0Mp pnan
95 85 75 62.5 57.5 55 45 40 mm Smin 021N 127X PNn
285 255 225 187.5 1725 165 135 120 Cer |ID2N NXPN 'DIP PNIN
95 85 75 62.5 57.5 55 45 40 Crmin (IDAN NYHD 7K PNN
500 450 400 320 280 250 210 200 heff ]AIyN Npnn poiy
1000 900 800 640 560 500 420 400 Ser oIyn 2'0"p pnan
250 225 200 160 140 125 105 100 mm Smin 0221YN 122 '7XN1IM PNn
750 675 600 480 420 375 315 300 Cr (ID2N XD AP PN
250 225 200 160 140 125 105 100 Cmin [1D2N N¥PN 78R PNIN
.N9'7W1 P71 DD DI DU7XNDIDOIND D'PNINA .D'ONIY NNNDSNA 0D DY7XNI'MA DPRINA
a1y ‘72 w197 2WnY7 W1 ATR0DD9IX pNI0 'Y 01121 N'7120N 1wnY
niy" 197 |alyn aIvn
("ETAG Bonded Anchor" [pn 97 nbwain aiwn nix)
nnyn
NN'Y/0I7nin/nYin'y 0roniy '97 X71 design [dN '0ONIY '9'7 021IVN NX 0'AYNND ETAG-N '97 -
0'aWNN |20 INX7,|21IVN IRIN NYIp ,|1b2n 011y ,"Pull-out" N9*7w21 7W3 110 3 '97 |21Iyn X D'AYND -
.71UNN 720 DX 0TI 51021 pry-out-1 [V ININ NV ,|IDAN ¥R 11T 7W3 210 3
no'7wa'7wd - 1
Nrd,p = Nord,p . f'l' . fB-cp . fAN-cp . fRN-cp '.COMBINED PULL'OUT“ '9‘7 '7WJ 1.1
-
WG Pull-out N9'7w2 piyn 7w *7x301 2N PTIN Nord,p
| B MpNn PRy Nyown oTpm fr
a Combined Pull-out 7w 97 ipan a0 nyawnotpn | fe-p
Combined Pull-out w397 iy 2 fapnn nyawn omim | fan-p
Combined Pull-out 7w3 197 jn2n n¥pn pnan nyswn 0Tpn | fan-p
D40 | @36 | @32 | 328 | @25 | @22 | @20 | @18 |16 | 314 | @12 | @10 | @8 712701 Nord,p
500 | 400 | 320 | 280 | 210 | 190 | 170 | 150 | 125 | 115 | 110 | 90 | 80 | mm hnom MIvI9NL | [ID22I0
2074 | 1493 | 1072 | 84.8 | 59.6 | 47.4 | 386 | 39.1 | 302 | 253 | 216 | 156 | 11.6 2D WA - PITO X7 102 240/ 40° §_|
kN X
o
1742 | 1254 | 90.1 | 713 | 51.2 | 40.8 | 33.2 | 33.6 | 265 | 223 | 19.0 | 140 | 105 21D W2 - PITO XY 102 500/ 80° ',E_
| - | - | - [321]255] 208|172 133|110 92 | - avwr-prioga | 24%40° | g
kN §
= = - = 274 | 218 | 177 | 149 [ 115 | 96 | 82 = 2D WA - PITO |ID 50°/ 80° ~
(mm) pynnpnnpoly | heff heff
20d > heff > 4d Dy = —2
(mm) 70 nmpnapny | hnom hnom
fB,cp
C50/60 | C45/55 | C40/50 | C35/45 | C30/37 | C25/30 | C20/25 | C15/20 |Ib2n 210
1.30 1.26 1.23 117 112 1.06 1.00 0.94 P10 X7 |12
1.09 1.08 1.07 1.06 1.05 1.03 1.00 0.96 P70 ID2




combined pull-out 72197 01y 2 12 pNIN NYOWN DTN faN-cp

40 36 32 28 25 22 20 18 16 14 12 10 8 [ayn 210
7yn 7yn 7yn 7yn 7yn 7yn* 7yn 7yn 7yn 7yn 7yn vn 7yn |heff
*N"D 210 | *N"N 200 | "D 170 | *0"D 150 | *N"D 140 | DD 125 | *N"D 115 | *0"D 115 | *0"D 100 | *0"D 90 | *ND80 | *N'M 70 | *N"N 55 s
0.53 0.53 0.54 0.54 0.55 0.55 0.56 0.56 0.57 0.57 0.58 0.60 0.62 40
0.54 0.54 0.55 0.55 0.56 0.57 0.58 0.57 0.58 0.59 0.60 0.62 0.65 50
0.55 0.55 0.56 0.57 0.57 0.58 0.59 0.59 0.60 0.61 0.63 0.64 0.68 60
0.55 0.56 0.57 0.58 0.58 0.59 0.61 0.60 0.61 0.63 0.65 0.67 0.71 70
0.56 0.57 0.58 0.59 0.59 0.61 0.62 0.62 0.63 0.65 0.67 0.69 0.74 80
0.57 0.58 0.59 0.60 0.61 0.62 0.64 0.63 0.65 0.67 0.69 0.71 0.77 90

0.58 0.59 0.60 0.61 0.62 0.64 0.65 0.65 0.66 0.68 0.71 0.74 0.80 100

0.59 0.60 0.62 0.63 0.64 0.66 0.68 0.68 0.70 0.72 0.75 0.79 0.86 120

0.61 0.62 0.64 0.65 0.66 0.69 0.71 0.70 0.73 0.76 0.79 0.83 0.92 140

0.64 0.66 0.68 0.70 0.71 0.74 0.77 0.76 0.79 0.83 0.88 0.93 1.00 180

0.66 0.67 0.70 0.72 0.74 0.77 0.80 0.79 0.83 0.87 0.92 0.98 200
0.70 0.72 0.74 0.77 0.79 0.84 0.88 0.86 0.91 0.96 1.00 1.00 250
0.74 0.76 0.79 0.83 0.85 0.91 0.95 0.94 0.99 1.00 300
0.77 0.80 0.84 0.88 0.91 0.97 1.00 1.00 1.00 350
0.81 0.85 0.89 0.94 0.97 1.00 400
0.85 0.89 0.94 0.99 1.00 450
0.89 0.93 0.99 1.00 500
0.93 0.97 1.00 550
0.97 1.00 600
1.00 640

101N 01pP'7 7w 197 fan 7w N7202 WHRNWA7 W' AT pRiy7 nnnnn *

| S12
fAN-cp=0.5+0.5- S [7PMD IYSUR DTt fan TIN7 O'MTPNN NX 7'9007 v -
a =T L _ oman ;
S JAPDIX X 1DIX 11D 197 TN IX
X1y apnin
51-2 fan=fansi2. fans1-3 -
X2 i
S1-3
®
Scr-np = 20 X [Nrk.adh,prio x7 X d/(7.5xmx hnom)]™ ™ < 3 X heff ;

: DOPrao Jok:



combined pull-out 7w3 '97 1020 NXPR PND NY9SWN 070 frR-cp
40 36 32 28 25 22 20 18 16 14 12 10 8 [ayn a0
7yn 7yn 7yn 7yn 7yn 7yn* 7yn 7yn 7yn 7yn 7yn 7yn 7yn | heft
*N"D 210 | *N"D 200 | *ND 170 | *N"M 150 | *N'D 140 | "D 125 | *P’D 115 | *N’D 115 | *NN 100 | *N"D90 | *N'D 80 | *N'M70 | *N'N S5 c
0.56 0.57 0.58 0.59 0.59 0.61 0.62 0.62 0.63 0.65 0.67 0.69 0.74 40
0.58 0.59 0.60 0.61 0.62 0.64 0.65 0.65 0.66 0.68 0.71 0.74 0.80 50
0.59 0.60 0.62 0.63 0.64 0.66 0.68 0.68 0.70 0.72 0.75 0.79 0.86 60
0.61 0.62 0.64 0.65 0.66 0.69 0.71 0.70 0.73 0.76 0.79 0.83 0.92 70
0.63 0.64 0.66 0.68 0.69 0.72 0.74 0.73 0.76 0.80 0.83 0.88 0.97 80
0.64 0.66 0.68 0.70 0.71 0.74 0.77 0.76 0.79 0.83 0.88 0.93 1.00 90
0.66 0.67 0.70 0.72 0.74 0.77 0.80 0.79 0.83 0.87 0.92 0.98 100
0.69 0.71 0.73 0.76 0.78 0.82 0.86 0.85 0.89 0.94 1.00 1.00 120
0.72 0.74 0.77 0.81 0.83 0.88 0.92 0.91 0.96 1.00 140
0.78 0.81 0.85 0.90 0.92 0.99 1.00 1.00 1.00 180
0.81 0.85 0.89 0.94 0.97 1.00 200
0.89 0.93 0.99 1.00 1.00 250
0.97 1.00 1.00 300
1.00 320
JID2N 0117 7w 197 fry 7w N7202 WNNWAYT W AT pRIY7 nnnnn *
fancp =05+ D'DTPNA NX 7'9207 W 51
S 011N 727 TN IX TINY é

(mm) |ID3N NP TY PNIn |

|

JID2N N2'92 1Y ,XNAITT

fan=frny - fRNz

| cyi
1020 N¥p. .

Qi'

G

(o]
Nrd,c=Nrd,c.fs.fan.frn

|Ibn onip 197 7wd 1.2

. 5
DY 2 PNIN NY9Win 0Tpn fAN 1020 0NIp '9'7 N9'7wA Py XA PN PN | Nordc
[ID2N N¥PR PNIR NYSWN DTN fan [ID2N 210 NYSWN DTN fg
NCc=7.2.25% (he) ™ /1500 prTo o2 NCrc=10,1.25" . (hef) ™ / 1500 PITO XY 1027
kN Nord,c
190 170 150 125 115 100 90 80 mm heff
88.2 74.6 61.8 47.1 415 337 28.7 24.1 PITO X712
62.9 53.2 441 335 29.6 24.0 20.5 17.2 P70 |12
500 450 400 320 280 250 210 200 mm heff
376.4 3214 269.3 192.7 157.7 133.1 1025 95.2 PITO X7 102
268.3 229.1 192.0 1374 1124 94.9 73.0 67.9 P70 12
fo=( fek )0,5 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |Ib1N 210
B=(52
25 1.55 1.48 1.41 134 1.22 1.10 1.00 fB
|02 N¥'NY7 PTIN | fek
-
g A DOPro R




fan=0.5+0.5- ﬁ
0y 22NN nyswia oTpn fan
500 400 320 280 210 190 170 150 125 115 100 90 80 |he s
0.52 0.53 0.53 0.54 0.55 0.55 0.56 0.57 0.58 0.59 0.60 061 0.63 60
0.52 0.53 0.54 0.54 0.56 0.56 0.57 0.58 0.59 0.60 0.62 0.63 0.65 70
0.53 0.53 0.54 0.55 0.56 0.57 0.58 0.59 0.61 0.62 0.63 0.65 0.67 80
0.53 0.54 0.55 0.55 0.57 0.58 0.59 0.60 0.62 0.63 0.65 0.67 0.69 90
0.53 0.54 0.55 0.56 0.58 0.59 0.60 0.61 0.63 0.64 0.67 0.69 0.71 100
0.54 0.55 0.57 0.57 0.60 0.61 0.62 0.64 0.67 0.68 0.71 0.73 0.76 125
0.55 0.56 0.58 0.59 0.62 0.63 0.65 0.67 0.70 0.72 0.75 0.78 0.81 150
0.57 0.58 0.60 0.62 0.66 0.68 0.70 0.72 0.77 0.79 0.83 0.87 0.92 200
0.57 0.59 0.61 0.63 0.67 0.69 0.72 0.74 0.79 0.82 0.87 0.91 0.96 220
0.58 0.60 0.63 0.65 0.70 0.72 0.75 0.78 0.83 0.86 0.92 0.96 1.00 250
0.60 0.63 0.66 0.68 0.74 0.76 0.79 0.83 0.90 093 1.00 1.00 300
0.62 0.65 0.68 0.71 0.78 0.81 0.84 0.89 0.97 1.00 350
0.63 0.67 0.71 0.74 0.82 0.85 0.89 0.94 1.00 400
0.67 0.71 0.76 0.80 0.90 0.94 0.99 1.00 500
0.70 0.75 0.81 0.86 0.98 1.00 1.00 600
0.73 0.79 0.86 0.92 1.00 700
0.77 0.83 0.92 0.98 800
0.83 0.92 1.00 1.00 1000
0.87 0.96 1100
0.90 1.00 1200
0.93 1300
1.00 1500
fRn=0.5 + ﬁ
1020 NYPR PN YW o1 fan
500 400 320 280 210 190 170 200 125 115 100 90 80 heft c
0.54 0.55 0.56 0.57 0.60 0.61 0.62 0.60 0.66 0.67 0.70 0.72 0.75 60
0.55 0.56 0.57 0.58 0.61 0.62 0.64 0.62 0.69 0.70 0.73 0.76 0.79 70
0.55 0.57 0.58 0.60 0.63 0.64 0.66 0.63 0.71 0.73 0.77 0.80 0.83 80
0.56 0.58 0.59 0.61 0.64 0.66 0.68 0.65 0.74 0.76 0.80 0.83 0.88 90
0.57 0.58 0.60 0.62 0.66 0.68 0.70 0.67 0.77 0.79 0.83 0.87 0.92 100
0.58 0.60 0.63 0.65 0.70 0.72 0.75 0.71 0.83 0.86 0.92 0.96 1.00 125
0.60 0.63 0.66 0.68 0.74 0.76 0.79 0.75 0.90 093 1.00 1.00 150
0.62 0.65 0.68 0.71 0.78 0.81 0.84 0.79 0.97 1.00 175
0.63 0.67 0.71 0.74 0.82 0.85 0.89 0.83 1.00 200
0.67 0.71 0.76 0.80 0.90 0.94 0.99 0.92 250
0.70 0.75 0.81 0.86 0.98 1.00 1.00 1.00 300
0.73 0.79 0.86 0.92 1.00 350
0.77 0.83 0.92 0.98 400
0.80 0.88 0.97 1.00 450
0.83 0.92 1.00 500
0.90 1.00 600
0.97 700
1.00 750
DOF of-



Nrd,s = Nrk,s/ Ysn pIynnina'7v3 1.3
@40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 | @12 | @10 | 28 mm | 71270p
1257 | 1018 | 804.2 | 615.8 | 490.9 | 394.5 | 3142 |257.65| 201.1 | 153.9 | 113.1 | 785 | 503 | mm? As
kN NI’d,S
220 218 216 214 212 @210 a8 mm 7M1701p
1236 100.0 79.3 60.7 443 30.7 20.0 ST500 |17 7112
kN Nrd,s
240 @36 @32 @28 @25 222 mm 7121701
546.3 443.5 3157 2258 1929 149.3 ST500 |17 7112
Nra = min {Nra,c, Ned,p , Nra,s} n9'7w1 7wo Do

Nrd > NIN7 X 097w |21IVN 7Y 7y9I0N |20 ORIYN

mmavl-2

Vrd,s =Vris/ Ysv Iyn 0ina ‘7w 2.1
kN Vrdls
220 218 216 214 @12 @210 @8 mm 711701
57.7 46.7 37.0 283 20.7 14.3 9.3 ST500 |7 7112
kN Vrd,s
240 236 232 228 @25 022 mm 7112 701p
231.3 187.7 147.3 112.5 90.0 69.7 ST500 |7 712
Vid,c = Vord,c fs.fyv.faryv JID27 n¥p '9'7 '7wd 2.2

ADIT 0TIND DY WP XY X7DID ,NXPAN ONYP TIXD 0PNI0 NI IX 2 W NTDa

)
mMmapynwmnpnptn | Viode

[ID2N 210 NY9SWN DTN f8

[ID2N DY (1121790 NN I Pa T nyawn oTpn | fyy

0'221yN 2 PNADIIDAN AXPD PNAN NysSwa DTpn fAR,V

(mm) 7112 01p d

(mm) pynnpnapoiy | heff

(mm) 12N NP TY PRN C

AC100Pro + rebar




0,5

a=0,1 . (het/0>” Vre=1 24.d% hett.25% .21/ 1500 PITO XY 1027
8=0,1.(d/0%?
kN Vordc
@40 @36 @32 728 @25 @22 220 218 @16 214 @12 @10 28 7t201p
500 400 320 280 210 190 170 150 125 115 110 90 80 | heff c
19.13 | 16.11 | 13.77 | 1239 | 1064 | 9.90 9.30 8.71 8.04 7.64 7.32 6.75 6.34 60
21.89 | 1865 | 16.10 | 1459 | 1264 | 11.82 | 11.15 | 1048 9.72 9.27 8.90 8.25 777 70
2473 | 21.26 | 1851 | 16.86 | 14.73 | 13.82 | 13.07 | 1233 | 1149 | 1098 | 10.57 | 9.83 9.29 80
27.64 | 2394 | 2099 | 19.21 | 16.89 | 1590 | 15.08 | 14.26 | 1333 | 1277 | 1231 | 1149 | 10.89 90
30.62 | 26.70 | 2354 | 21.63 | 19.13 | 1805 | 17.15 | 16.27 | 1524 | 1462 | 1412 | 13.22 | 1255 100
33.67 | 29.52 | 26.16 | 2411 | 2143 | 20.27 | 1930 | 1833 | 17.22 | 16,55 | 16.00 | 15.02 | 14.28 110
3835 | 33.86 | 30.20 | 27.96 | 25.00 | 23.71 | 22.64 | 21.56 | 20.32 | 19.56 | 1894 | 17.83 | 17.00 125 E_'
43.16 | 38.34 | 3438 | 3194 | 2871 | 27.29 | 26.11 | 24.92 | 23.55 | 22.71 | 22.02 | 20.78 | 19.86 140 E
46.44 | 4140 | 37.24 | 3466 | 31.25 | 29.75 | 2850 | 27.24 | 25.77 | 2488 | 24.14 | 22.82 | 21.83 150 E_
5487 | 49.27 | 44.62 | 41.72 | 37.86 | 36.14 | 34.71 | 33.26 | 31.58 | 30.54 | 29.69 | 28.16 | 27.00 175
63.61 | 5746 | 5232 | 49.09 | 44.78 | 42.86 | 41.24 | 39.61 | 37.70 | 36.53 | 35.56 | 33.81 | 3249 200
8197 | 7472 | 68.60 | 64.73 | 59.52 | 57.17 | 55.19 | 53.19 | 50.83 | 49.38 | 48.17 | 4599 | 44.33 250
101.39 | 93.06 | 8597 | 81.45 | 7534 | 7257 | 70.22 | 67.84 | 65.04 | 6330 | 61.85 | 59.23 | 57.23 300
121.78 | 112.38 | 104.32 | 99.15 | 92.14 | 88.95 | 86.24 | 83.48 | 80.22 | 78.19 | 76,50 | 7343 | 71.08 350
143.08 | 132.61 | 123.59 | 117.77 | 109.86 | 106.24 | 103.16 | 100.02 | 96.30 | 93.98 | 92.05 | 88.52 | 85.82 400
188.20 | 175.58 | 164.64 | 157.52 | 147.81 | 143.32 | 139.50 | 135.59 | 130.95 | 128.03 | 125.60 | 121.15 | 117.73 500
236.37 | 221.63 | 208.75 | 200.33 | 188.80 | 183.44 | 178.87 | 174.18 | 168.60 | 165.08 | 162.14 | 156.75 | 152.60 600
313.81 | 295.87 | 280.09 | 269.71 | 255.43 | 248.74 | 243.03 | 237.15 | 230.13 | 225.69 | 221.97 | 215.14 | 209.86 750
Vord,c =I[R178 d“. heffﬁ . 250’5 . c1’5 1/1500 170 1027
kN Vordc
@40 @36 232 @28 @25 @22 @20 @18 @16 214 @12 @10 28 7t201p
500 400 320 280 210 190 170 150 125 115 110 920 80 he c
1355 | 11.41 9.75 8.78 7.53 7.01 6.59 6.17 5.69 541 5.18 4,78 4.49 60
1550 | 13.21 | 11.40 | 1033 8.96 8.37 7.89 742 6.89 6.56 6.31 5.85 5.51 70
17.52 | 15.06 | 13.11 | 11.94 | 1043 9.79 9.26 8.74 8.14 7.78 748 6.97 6.58 80
19.58 | 16.96 | 14.87 | 13.60 | 11.97 | 11.26 | 10.68 | 10.10 9.44 9.04 8.72 8.14 7.71 90
21.69 | 1891 | 16.67 | 1532 | 13.55 | 1279 | 1215 | 11.52 | 10.80 | 1036 | 10.00 | 9.36 8.89 100
23.85 | 2091 | 1853 | 17.08 | 15.18 | 1436 | 13.67 | 12.99 | 1220 | 11.72 | 11.33 | 10.64 | 10.12 110
27.16 | 2399 | 2139 | 1980 | 17.71 | 16.80 | 16.03 | 15.27 | 1439 | 13.86 | 1342 | 1263 | 12.04 125 g
30.57 | 27.16 | 2435 | 22.62 | 2034 | 1933 | 1849 | 17.65 | 16.68 | 16.08 | 15.60 | 14.72 | 14.07 140 8
3290 | 2932 | 2638 | 2455 | 22.14 | 21.08 | 20.19 | 19.29 | 1826 | 17.62 | 17.10 | 16.17 | 15.46 150 =
38.87 | 3490 | 31.61 | 29.55 | 26.81 | 25.60 | 24.58 | 23.56 | 2237 | 21.63 | 21.03 | 19.95 | 19.13 175
45.06 | 40.70 | 37.06 | 34.77 | 31.72 | 30.36 | 29.21 | 28.06 | 26.71 | 25.87 | 25.19 | 23.95 | 23.01 200
58.06 | 5293 | 48,59 | 45.85 | 42.16 | 40.50 | 39.09 | 37.67 | 36.01 | 3497 | 34.12 | 32.58 | 31.40 250
7181 | 65.92 | 60.89 | 57.69 | 53.36 | 51.40 | 49.74 | 48.05 | 46.07 | 44.83 | 43.81 | 41.95 | 40.53 300
86.26 | 79.60 | 73.89 | 70.23 | 65.27 | 63.00 | 61.08 | 59.13 | 56.82 | 5538 | 54.19 | 52.01 | 50.35 350
101.35| 9393 | 87.54 | 8342 | 77.82 | 75.25 | 73.07 | 70.85 | 68.22 | 66.57 | 65.20 | 62.70 | 60.79 400
133.31 | 12437 | 116.62 | 111.58 | 104.70 | 101.52 | 98.81 | 96.04 | 92.75 | 90.69 | 88.97 | 85.82 | 83.39 500
167.43 | 156.99 | 147.87 | 141.90 | 133.74 | 129.94 | 126.70 | 123.38 | 119.42 | 116.93 | 114.85 | 111.03 | 108.09 600
222.28 | 209.58 | 198.40 | 191.04 | 180.93 | 176.19 | 172.15 | 167.98 | 163.01 | 159.86 | 157.23 | 152.39 | 148.65 750
DOPrao Jok :




fx 05 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |Ib2n 10
fe=(=-)"
( 25 ) 1.55 1.48 1.41 1.34 1.22 1.10 1.00 fg
90° 80° 70° 60° 50° 40° 30° 20° 0° y
25 2.32 197 1.64 1.40 1.24 113 1.05 1 fyv
AT LTk (102N N¥P7 I'ON! N2 ONIVA TV | y |
i
: fy= 0°< y<90°
a Y 2 . 2
=l (cosy)” +(0,25-siny)
JID2N NYP'7 72pP0RN NIDN 2D DX P X AWNT7 W ,90°-n N'7ITa NNt ATIA
------------- JID2N NXP'7 190 (122 1Y NIDN 2P AWNNNT7 IX 'R
fary = 1 TTIA PIY'YT *
(mm) NprTan I 197 102N NXP TV PN c ¢ 3C+51+52+ 53+ +Sne1 o1y N¥ap'7 *
ARV =
(mm) 12N N¥P DY 73P0 1 '97 DAAYN 2 PN Sx 3nc
[ID2N NP7 NANP 12N NIYAD D)1y 1901 n
I I e e T A T L T 3
1 1
1 ]
: @ P @ ® D
i 51 ns | G Sn-1 1
1 ]
1 1
1 1
@® ® ® @ ® |
1 1
1 ]
1 ]
i 1020 X :[ !
Vrd,cp= 2. Nrd,c Pryout'a'7'7w3 23
—
(1.2 197w 7¥3 2N NXD) | Nrd,c |
Vig =min {Viap, Vrdcs Vid,st ' 7w0 DId'o
Vid > NIN7 11X N97W2 21Y0 7V 7¥9100 DN 0NIVIN
171I¥nn oniyn'97 '7w3 - 3
I[ID2-]ID2 IX NT79-NT79 IDI72,”210” INIXD N'T3/N9'7Y 'ONIY 7V 117'Y D'AVUNND
Nsg 15 Vsg 15 [y 7y 7ynmn n9'7wa pn only Nsd
NRd concrete VRd,concrete <1 Jalyn 7y 7y91inn N2 on only Vsd
2 2 Nrds = NRd,steel
Nsd )+ Vsd <1
NRd,steel VRdsteel Vids = VRdsteel




11pna 1T

AN nTp7 (1
YD1 MIX XNYT DY 1NN DX N7 (2

(

(
21NN 9100 DINA DX PT7 (3
.212'02 DINN NX 0'12n7 (4
(

910 NIWA'NNYT TY DUNYW-NYY [NDNY (5

o'n"pn
n’jm D9 IIN'D
08484 AC100Pro 400ml
08461 CG400 1T APt NTPX
01461 EG400 *7nwn nptn NTpX
— 02461 PG400 'uXn19 Nt NTPX
=

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X1 ,N90I11 N'7XVY '702

AC100Pro + rebar




